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1 BRABUE 42 43 85 13.6 71.4
2 MEALEMN 44 47 91| 19.6 71.4
3 FILEHE] 42 43 85 12.4 72.6
4 RAESS 47 44 91 18.4 72.6
5 HHEIER 39 46 85 11.2 73.8
6 HF FEhT 48 43 91 17.2 73.8
7 LUAREAS 48 48 96 22.0 74.0
8 ERIHE 40 41 81 6.4 74.6
9 HEEY 37 37 74 -0.8 74.8
10 KA 39 40 79 4.0 75.0
11 RJFASHE 48 47 95 19.6 75.4
12 A8 48 46 94 18.4 75.6
13 HFIE 41 39 80, 4.0 76.0
14 EEEH 45 47 92 16.0 76.0
15 FEEEA] 38 52 90 13.6 76.4
16 & [ i 46 50 96 19.6 76.4
17 LgFTA 43 46 89| 12.4 76.6
18 HARELZ 48 52 100 22.0 78.0
19 [ER3R 5 47 46 93| 14.8 78.2
20 KE KK 45 46 91 12.4 78.6
21 VHE) 43 46 89 10.0 79.0
22 WG 53 50 103 23.2 79.8
23 Rl SEWRED 43 416 89 8.8 80.2
24 FHAK 55 56 111 30.4 80.6
25 _bAEBL 47 51 98 17.2 80.8
26 fEEf L7 49 54 103 22.0 81.0




